
SS40REEL 
Installation instruction for mounting Spot Sprayer to Hose Reel 

1 Remove two packing bolts that are holding Reel to Mount. See Fig 1. 

 

2 Install Reel on top of Mount using 4—5/16” x 3/4” Bolts, 4—5/16” Lock Washers, 4—

5/16” washers  &  4—5/16” Nuts.  See Fig 2. 

 

 

 

 

 

 

 

 

3 Lay Hose Reel & Mount on side with Hose Reel Handle facing down. Position Sprayer 

Tank on to Mount with Pump End of Tank closes to Reel.  Align Holes in Mount with 

Bolt Holes in Tank and fasten in place using 4—5/16” x 3/4” Bolts, 4—3/8” Flat Wash-

ers & 4—5/16” Lock Washers. See Fig 3. 

 

4 Remove Handgun and Handgun Hose Assembly from Sprayer. 

 

5 Install Barb Elbow (NYEL38) in Pump Discharge Hole.  Fasten Reel Feed Hose (Yellow Hose) 

to Barb End with Hose Clamp. See Fig 4. 

 

 

 

 

 

 

 

 

 

6 Thread Handgun onto Reel Hose.  See Fig 3. 

 

7 Completed Reel, Mount & Sprayer should look like Fig 5. 

 

8 Fill with WATER ONLY, start Pump  Check for Leaks and Tighten       

Fittings if Necessary 

 

 Questions Please Call 800-847-9875 

 

 

Fig 1 
Fig 2 

Fig 3 
Fig 4 

Fig 5 


